|l ECTURE 12
QN«L. FeB. 5T zoz.o)




N=3]' A= {3qqez?
Quidtem 1) B= {3q+l:qcZ
itk C= {39r2iq€2 €
Z=AVBuC.,

Suv: xeC Ayel = xyeb,

~HoN? o= Bp 42 and 4=39+2;, ame pq<Z .
"Tlmem)
XY= <3la+i)(§‘\+?—'> 9pq+6p+6q+"r

Cwvont W XY = 3Q3m+zr+lq+(‘> |
pretue.....) Saw \/ rw\ . ng,
B LT
| L' “c.e=R"
A B -
S, ‘f"" aMY) choree, o& 4o \va‘xo? : (SiM{W[ Y *fv(' +>
o muth)lication tmble-: o odiion fodble—:
° | A B C. -+ A B @it
AlA A A AlA B C
BRI1A B C B|l®2 C A
ClA C B S| A B




D E
N=5| Z=AVRBVCUEUF (uen ABC (>
A:—.—fS’q:O\éZ} = [o7]
B= {59¢|:qeZ ¢ =[1]
C.= §S‘1+2.= 4eZ ?—'—:-[2]
D= i5+3: 962 § =[] . .
E=§§1+4=qé2?=[4]~ C-D=8

eva x&lC ~ 4y&D —> W EB.

%y =(Spe) (53+3) = 259" 15+ 154+ &
= S(Sc‘2+3‘»+301+l> ~+ |
— /‘\
(ssw'\ad\9 C+D =AY pliee=

D -E = C: v(xﬂ -
U B




~ How to add N thply Loﬁ@&? ‘De:?mL + and e oy Zy-

Def. [a] 4[] = [a~b] BN =12l

[T 1] = [ai] C
lo
Vgl defined ) RHS undep. o
the. dawree of ro&Vd&Mfa‘kVW 0 ,LGZ? [s]+[e]=[13]

atb =T17]
| ./; | .'):'\f> | [5]«[®]= [40]
o b “a+b =[],
. /
[ Le] (40=2-12+4)

Neod fo heder 1£ [J=[a'7
ond tL]:—a CL'J)

them [qulo] = ra,*L,] o Cﬁ.‘a] = f&’L’ ] .
(b, et [S1=[17T o [€] = [4]. Shaulh hoie
N={2

(7] %+ (4] = (1] ad Dﬂ-t——zﬂ/é [43 )

—~ 6¥3=(-6)12.+4
st ventfy: 63 = (6)

) v = a+b = deb’ (wmaf ND erd
2= o’(uadND A b= b (wallN) =D ?{a)o = oW (wedon)



Bow: d=tsN ad bmbsdN | gue SEEZ.
T,
(a+b) —(d'+) = (a—al)+ (b=V) = @-t-'b)l\l

and. ,
b —0o'b = ab— a'lb+ a'b—g'L’

- . fob
= (a=0)b+ a'Cb—1") ﬁmﬁ-b&vuf%
= (sb+ ot )N Z=AVBVC .

WBoth avd— \Mulh'r(n &% N.
BC Usuade anbpdic Qonns Jold fov Ay vth tond o

(03 Socatna_ Uz )
podiay: 0=lo (ued) => 0=k (uobND
o 289~ neN,
BN=10) 4o=1(wh3) o
3 n
10 =14 (w3,
.t a110-\- 0\2102’-&--'- + a“’lon =. ¢yt 01-\-«2:*-----& Gy (\;«w&@
- 7
~— \_—"—V_\/
X Swa%'ﬂ& &%h 0—3<7K.

Shews 3])4 "-f-ow«l O/\‘b it 3 {vder io_‘- .
{=0o

312.020 Sice. 2=4
3 [2019 smes T=(Z.



B(N=1) 1o=-—1 (wah ID
18" =(-1)' Cuo 1)

40-\-«‘10—»-.-1-4“10“5 G0+ az_-"""CT\)"Qn Cm&a“)
— —~ — .

x Qlbenativd s 0% s

Shons 1% oadly vhen 4 divdos > (Cote

{=o

(‘1‘\[737 shee. 1 dwbn =347 = l})

B Wt oom 90 WYMS(Z &/\'m)ogL W, hshead
yaN‘H‘"\’W\ Z itz o boved:

A-——--{xé2=x>l}
B={xeZ: x<I B
- Whed's A+B7
D Sdect 2 A and 16 B. Them
2+1=3 eA.
7) Sdeck~ EEA and —7 EB . TThew
5+E7)=-2 &8 .

tedulting  por dgpﬂéé o tha, dwr—cz 08<
Ses J rq»wx&u&whv@x)



